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5. Each question has four alternative responses marked
serially as 1, 2, 3, 4. You have to darken only one
circle or bubble indicating the correct answer on the
Answer Sheetusing BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet.
When you are directed to open the Test Booklet,
take out the Answer Sheet and fill in the particulars
carefully with blue ball point pen only.

7. 1/3 part of the mark(s) of each question will be
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for any question. Leaving all the relevant circles or
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as wWIrong answer.)
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9. Mobile Phone or any other clectronic gadget in the
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found with any of such objectionable material with
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10. Please correctly fill your Roll Number in O.M.R. Sheet.
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incomplete Roll Number.
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el 2 - x — 6] = x + 2 % =

TrEafe: gell Y HE &

(1 0 (2) 2

(3) 3 4) 4

(a+ b + )2 % Freaw & v i w2
(1) 351 (2) 325

(3) 625 (4) 338

qmaﬂﬁﬁwﬁmaﬂ%mvﬁ@é
¢ fean <irar 2 | Ffe EehT A S H

TaaT B, A sHeh! e ° gfg &ft

(1) 37 (2) 67
(3) 9T (4) 277
o Hier S ATt TSl % I WF b

3ar S affy 44 e B, @ WiH i
frefer IS ST 8

(1) /120 (2) /130T
(3) 150 @) M5
Jfe g7 1 T HIT B 50% T STl

2 ) 3% qet der 1 9fg
(1 50% (2) 75%
(3) 100% (4) 125%

T 3E 1 U IH-TMARRR qUT FH
TR B | Ife 3 Al W <1 gE

%mw%a‘tsqwﬁ%aqmﬁw
ST R

(1) 1:43 2) 2:4/3

(3) 1:2 4) 2:3

The number of distinet real solutions
of the equation x> —x — 6| =x + 2 is
(H 0o (2) 2

3) 3 4) 4

Number of terms in the expansion of
(a+b+ ) is

(1) 351 (2y 325
(3) 625 (4) 338

The radius of a wire is decreased to its

one-third. If its volume remains the

“same, then its length will increase

(1) 3 times (2) O times

(3) 9 times (4) 27 times

The circumference of the base of a
9 m, high wooden solid cone is 44 m,

then slant height of the cone is equal to

(1) 120 m (2) 130 m

(4) ?\ﬁ m

(3) 150 m

If each edge of a cube is increased by
50%, then increase in its surface area
will be

(1) 50% (2) 75%

(3) 100% 4) 125%

A solid is hemispherical at the bottom
and conical above it. If the surface
areas ot these two parts are equal, then
the volumes of these two parts are in
the ratio

(1) 1:43 ©2) 2:/3

3) 1:2 4) 2:3

[~
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10.
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cos0 -3 cos O +2 LS. o
gfe : =], 0<0<
sinZ0

A e E/A P Fm @ 2/ 0

a.  IIH iRl i GqE W AT 0
FQUHAAE |

b. Haet 0 = 60° ITYH FHIHT g
TAERATR |

&I 3T T =91 Hifo :

(1) e o’

(2) HIAD’

(3) Eﬁ‘ﬁ"a’"ﬂ‘a’f‘b’

(4) FA @ AE D

1A

4

(A

(1 —sinA+cosA)2_cl'{lﬁ'{%:
(1) 2(1 —cos A) (1 +sin A)
(2) 2(1 +sin A) (1 +cos A)
(3) 2(1 —cos A) (1 —sin A)

(4) 3 A HIE T

4 &
Ife tan@+cot9=?.\_ﬂ€1 0<9<%’
3 -

al sin © + cos O STET 8

B3-1

(1) 1 ) 75
A3+
(3) ; (4) \2

1 .
Ife y +;= 2, d9 sin!x + cos”! I

T HH & :
(1y o (2) ©
(3) w2 (4) w4
T PIgst ABC Rt s a, b, ¢ 8, &
o sin (A - B) @1 sin (A + B) &l
I B
o B3 o T==
a2 w7 be
Lo at-b? a’>-b?
(3) ¢? C) ab

10.

11.

cos?0 -3 cos O +2 .
If . 9 = l,
sin<0

where

i . . s .
0 <6 <35 then which of the following

statements is/are correct ?

a. There are two values of 0
satistying the above equation.

b. only 8 = 60° is satisfied by the
above equation.

Select the correct answer.

(1) *a’only

(2) ‘b’ only

(3) Both ‘a’ and ‘b’

(4) Neither “a’ nor ‘b’

(1 —sin A + cos A)? is equal to
(1) 2(1 —cos A) (Il +sin A)
(2) 2(1 +sin A) (1 +cos A)
(3) 2(1 —cos A)(l —sin A)
(4) None of these

. 4 T
[ftan @ + cot O Z?;;, where 0 <0 <35>
¥

then sin O + cos 0 is cqual to

3-1

(1) 1 (2) 25

3+ 1
A3+1 ) A

3) 5

1 e ;
Ifx + i 2, then principal value of

sin! x +cos! xis
(1) 0
3) 2

() «
4) w4

For a triangle ABC, with sides a, b, ¢,
the ratio of sin (A — B) to sin (A + B)

is
b2 + ¢2 b2 -¢?
(1 ] (2) be
3 a2 — b2 A a2 —b?
(3) = (4) ab



13.

14.

I5.

16.

17.

a, b, ¢ Yot aret Bryw ABC &t
tan A/2 QT tan B/2 =T TUH BT

| b+tc—a ?'c+a—h

) Y ¥b+re ) ¥bre
atb-c¢ 2¢

By = il
atb+c (a+b+c)

HIﬁTm"{UT\[é cosx = cosecx, (0 £x£2n)
& el § 31w &

OF @ 3
3% @ 5

- 12
Ay =" A (1) Y

| d
(1) 5 @) (-2
b
() @-DE @) (-2)y

e fx) = 3t - 402 + 5, A A=A

e () Ueht @7 Kt a+ft vt =t Tge
AT ], BN
(1) [0,2] (2) =]
(3) [-1,0] ) [1.2]
x & ol arafye ol & R,
l_"‘+'\'25m — %_
| +x+22 T
(H O (2) 1
1
3) 3 4 3

Ffe lim ky cot x = lim x cot kx, K

=0 r=10
1 HH 2
(1) ad | (2) ad |
l
(3) £1 4) *3

14.

15.

16.

17.

For a triangle ABC with side a, b, ¢ the
product of tan A/2 and tan B/2 is

] b+c-a 5 cta-b
D b +c () a¥b+e
atb-c 2¢
) a¥bre 4 (at+b+c)

Difterence between the roots of

the equation \/§ COS X = cosec x,
(0€x22m)is

T T

el ’) e
M 5 @7

T T
) 3 4 3
5 tan "y - 2 )
Ify=e , then (1 + x°) 2 1S equal
to

dy Y
(D Xy @ (1-2973;

d .

G) @x-DE @ (1-29y

It fx) = 3a* — 4x2 + 5, then the interval
tor which t(x) satisty all the conditions
of Rolle’s theorem, is

(1) [0.2] (2) -1, 1]
(3) [-1.0] 4) [1.2]

For all real values of x, the minimum

l=x+x
value of Tt 2 ised ual to
(1) 0 @) 1
I
(3) 3 4 3

If lim kx cot x = lim x cot kx, then
x—=0 x—=0

value of k is to

(1) onlyl (2) only -1

(3) +1 4) +

| —
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19.

20.

21.

23
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Y s,

fq d_ u, (12_:. =

dy dy- BRNFTE
Vv v
(l) u—l (") u’
7 ol
3 — 5 @) ==
( v =

Il ®er f(v) = FEaH dx, 2}, T ()
BT

(1) Tad Td AdsheHd Yy € R

(2) ¥ad Vyxe R

(3) AHad e x =1 T

(4) IWAAx=0TUTx= 1 W

gfe [ | siftrepan quiiss oM 8 @ v + 4]
1 JTahe &

(1 2

(2) 1

(3) 0

(4) Afa T g2 |

wh fog P ¥ W 37 + 6y> = 18 W
srfdrera wffen AT & S R @Iy +y =8
HEaa s | P HdE ©

() (1,1 (2) 2, 1)

(3) 8. 1) 4 O,

% fomg 39 TR i e @ fo s|eht
gl faeg (4, 0) 3R y-3181 & T &l &,
1 gass frgue w1 wHfiehtor g

(1) y¥*+4x+16=0

(2) y2+8x+16=0

(3) y"-8x+16=0

(4) »2-8y+4=0

Ife gfteRtor hxy + gy + fy +¢=0;h #0

Tt Y3t % weh gm H vefifa s g,
al
(1) fc=gh (2) th=cg

(3) th=cg? (4) gf=ch

18.

19.

20.

21.

22.

e B Y
dy = U PR en” =5 s
y v
by =g 2} —=3
( ) u-{ ( ) u’
7 7
R 4 e
(3) e (4) i
If the function f(x) = min lx, x>}, then

f(x) is
(1) continuous and
Vxe R

(2) continuous Vx € R

differentiable

(3) discontinuous at x =1 only
(4) discontinuous atx=0and x =1

If [ ] is greatest integer tunction, then
ditferentiation of x + [x] is

()2

2) 1

(3) 0

(4) does not cxist

From a point P, normal is drawn to the
curve 322 + 6y? = 18, which is
perpendicular to the line x + y = 3.
Coordinates of P are :

() (1, 1) (2) (2,1)

(3) &1 4 9.1

The equation of the locus of a point
which moves so that its distance from
(4, 0) and y-axis are equal, is given by

() y*+4x+16=0
(2) Y’ +8x+16=0
(3) y¥*-8x+16=0
(4) x*-8y+4=0

If the equation hxy + gy + ty + ¢ = 0;
h # 0 represents a pair of straight lines,
then

(1) fc=gh
(3) fh=cg?

(2) ﬂl=c§,
(4) gf=ch
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28.

2Y.

3) @

Wf:%\'ﬁe[_@?ﬁ%'

(1) Ueh aTdfees =qeasit
(2) Tl arEfees ATaerfit
(3) 3 ST IR
(4) IS ITEdfereh F=aoaell T2

afe i = frdee (+ 5, 0) 3T st

% fadwis (£ 13, 0) § @ ddgm A

mﬂw%
Ly o
(1) l()() 144“1 ) 143 144 1()9_]
Y .
® TH i @ Teotia=!
FfautEed
232+ y2 - 3xy—Sx+4y+6=0
%%ﬁ?sﬁém%.
() (1,2) 2y @&
(3) (1, 1) 4) (2,2)
ﬂﬁ.\'ery-—\E_\'—%y:UEﬁﬁ:I:I—

for Shenst 1 e @M @ fg

(\2.3) & mrdt 2 wen cow @
Tz gt &
(1) A (2) Th

(4) 3«

JMIAH TS (v 1)+ (y21)2=1
a1 Frsfta gl i vt @t 7, gt
(1) (\2-1) 378 (2) \2 58
(3) 22 sE  (4) T ARE T
Tfe A0, 3), B(=2, 0) adT C(6, 1) fereht

ﬁHGT%ABC % 3 & @ P('J%;\) aﬁg
dg A qUl P, 3STT BC & U
%ﬁﬁaﬁ%

(ly x=1/2 (2)y x>1/3
(3 =2 (4) x>3

24.

27e

The parabola y* = 4ax possesses
(1) one real asymptote

(2) two real asymptotes

(3) many real asymptotes

(4) no real asymptote

[f co-ordinates of focii are (£ 5, 0) and
vertices are (+ 13, 0), then equation of
ellip% is ;

2 2
(h ]60 Mf‘ (2) m*m"
2 ')' ]
2R ..
() 1 Jeo=! 4 1(0 14271

The coordinates of the centre of the
hyperbola

232 + )f3—3.\'y—5.\‘+4y+6=0is
(1) (1,2 2 31)
3) (1, 1) 4) 2,2)

Number of distinct chords of the circle

o
0> e \ﬁ,\‘ —5 y =0, passcs through

3 I .
the point (\/: ;] and Dbisected by

x-axis, is
(1) zero (2) one
(3) two (4) infinite

The radius of circle, which touches th
t_m.lcq givenby (x £ 1)> +(y+ 1)2 =

(]) (\[:— 1) unit (2) \E unit

(3) 242 unit (4) None of these

It A0, 3), B(-2, 0) and C(6, 1) are
vertices of triangle ABC and P(2x, x)
be any point, then A and P lies on
same side of BC when
(1) x>1/2 (2) x>1/3
3) x>2 (4) x>3

03
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34.
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ﬁlﬁ (acosO+bsinB,asin®— bcos )
fer s

(1) Eefga ®
(3) IfquEes

(2) TETI T
(4) AW

TEAT y2 = day AT 12 =4 by |G ™
It srfier =t sTferad g gl

(1y 2 3
(3) 4 ) 3

It e T 31 3 WY 0, 0, 3T 00T
AT % ar si1126| + si11292 + Sinzej Sl HH
T 8 —

(1 1 (2) 2
(3) 3/2 (4) 5/4

firg (1,2, 3) & ety =i ts

Z__jutaﬁnﬁatatﬁm&ém%
1y 3 2) \17
(3) 7 (4) /66

g iy r—3 i
e Y =2 = y=3 _z 4 K

3 4 5

x—1 -2 z-3 :
i y3 == Taaeld & @ A
S R

() 2 2) 1

(3) 4 4) 3

AR =qds ABCD % sRATTA
it & e A3, -1, 2), B(1,2,-4)
FC(-1. 1, 2) &, @ g D o Fcems &
(1) (1,2,8) (2) 2.8.1)
G) (1,-2.8) (4 (1,2,-8)

30.

5]
[

35.

The point (a cos 6 + b sin 6, a sin 6 —
b cos 0) lies on
(1) ellipse (2) parabola

(3) hyperbola (4) circle

The maximum number of normals
which can be drawn common to

y2 = 4av and x* = 4by is
(1) 2 (2 3
(3) 4 * 3

If a line makes the angles 0, 0, and 6,
with the axes, the value of

Sin’0, + sin’0, + sin’0, is equal to

(). 1 (2) 2

(3) 3/2 (4) 5/4

The length of perpendicular from
. ox=06 =7
(1, 2, 3) to the line =5~ = y_’)__ =

5 is equal to

(1 3 ) \17
3) 7 (4) /66
¥g —8 Bl
If the lines X 3 - Y 1 22 5 and

2

Xon b N2 mes

are coplanar, then

A 30 4

A is equal to

(1) 2 (2) 1
(3) 4 4) 3

The coordinates of the three
consecutive vertices of a parallelogram
ABCD are A(3, -1, 2), B(1,2,-4) and
C(-1, 1, 2), then coordinates of the
vertex D are '
() (1,2,8)

(3) .{1l.=2, §)

2} 12:6:1)

4 (1,2,-8)
O



36.

38.

39.

40.

fog (1. 2. 4) 3tk (3. - 4, 5) & TR
I AR yz - I o oe=ad GAAA 6
FﬂﬂWUT%:

(1) 2v+y—3z+12=0

(2) y+2z-6=0

(3) 3x+y—4dz+15=0

(4) x=2y+7=0

G et

02+ 4y — 1022 + 3yz+ dzx — llxy =0
SR Yef¥ia & Toeei! o HEd v SIS &
(1) cos™1(2/3)

(2) =2

(3) w3

(4) cos !(1/6)

i_@;.\'glzy:sl =7‘;laﬂtwaa
3x+2y+22=19

(1) YO ofad g |

(2) IR HMTR 2 |

(3) @1, gHad W@ R |

(4) @1 3 gHaS % HE R /3 R |

W%@T"';azy"ﬁzz_ym*—at%:
m O

(1) ohaet x-A8
(2) FaA - F
(3) Hao z-AA
(4) xTUTy AT &T H

-318] 3 HHTR THAE 1 THIHT 2
(1) ax+by+tcz+d=0

(2) aw+by+d=0

(3) byt+cez+d=0

(4) axtecz+d=20

36.

39,

40.

The  equation of the plane
perpendicular to the yz-plane and
passing through the points (1, -2, 4)
and (3, -4, 5) s

(1) 2x+y-3z+12=0

(2) y+2z-06=0

(3) 3x+y—-4z+15=0

4) x-2y+7=0

The angle between the planes given by
combined equation

6x% +4y? — 1022+ 3yz + 4zx — Llay = 0

1s equal to
(1) cos™'(2/3)
(2) m/2

(3) n/3

_(4) cos !(1/6)

The line = =—7%and the

2 -0
plane 3x + 2y + 2z =19
(I) are perpendicular to each other.

S y-21 z+ 1
3

(2) are parallel to each other.

(3) line lies in the planc.

(4) angle between line and plane is
/3.

. ox—0o y-B z-y
The straight line T

is parallel to

(1) x-axis only

(2) y-axis only

(3) z-axis only

(4) xand y-axes both

The equation of plane parallel to x-axis
is
(1) ax+by+cz+d=0
(2) avx+by+d=0
(3) by+cz+d=0
4) avtecz+d=0
03



41.

42.

43.

44.
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2 3 4
x—-2 y—4 z
> i % Hea TgoH gl
2
1

(1) 5 ®

1 I
(3) ﬁ 4 3
afew b x (b x a ) et &
(1) %ad a %
() FaA b F

(3) @i a 3 b *
4) AR AL Db H

f{x[ﬁx cxa)]—
1 (a-v)(axc
(2) (a- )(LXd
@ @9)-(-¢)

a-¢)(bxa

@ (a

afe p=i-2j+3kaunq=3i+3j+k,

aa(ﬁﬂa’)zwat%:

() p-q @ p+q ?
o G- @ G+

afy p=-5i+j-k, q=2i+]j+2kae
T = 4i + 2j — 2k, IS 3H TATH 1 JTET
fEeh TR e ¢+ T,
q p + q &, T
(1) 4257 31
(3) 126 T TS

- =
r+p

(2) 84 T THIS
(4) 168 T SHT3

41.

42,

44.

The shortest distance between  the
x—-1 y=-2 z-3

lines 5 - & — & and
x—-2 y—-4 z-3,

3 4 5 '
L -
() 6 (2) \/a
O 5 @ 3

Veetor b X (1_)> X :) is coplanar with
Oy Benly

(2) b only .

(3) both 2 and E}

(4) neither 2 nor b

Qx[ﬁx LXd)]"
1) (a-v)(axe
(2) (a'b)(cxa
@ (@-9)-(6-¢)
@ (3-2)(6x7)

I =i-2j+3kand q=3i+3j+k
then (B - 3)2 is equal to

(M p-4q @) p+q

o Bl -l @ G+a)

If p=-5i+j—k q=2i+j+2kand

> : .
¥ = 4i + 2j — 2k, then the volume of
cuboid whose coterminous edges are
e T T ] - =,

q+r, r+pandp+qis

(1) 42 cubicunit (2) 84 cubic unit
(3) 126 cubic unit (4) 168 cubic unit



46.

47.

48.

49,

50.

a,b. ¢ 3 ImEaehd diew & e

—r_ﬁxl(h;—)mLXd —9_‘{?}(1_')} =
P~ bea]” 97 [eab]” T T Tabe]”
[abc] =

(1) [par] (2) [par]?

(3) [pqr]™ 4 0

A T (71105 +13k) + Kk,

(2143 +4k) o (31 + 5] +7k) + K,
(i + 25 + 3k ) = wfered farmg forr ST 2
(2) 1—1 +k

() i+j+k
J =

3) i+]j-k (4) 379 9 1 T

Iig a, b, ¢ € G, @ TE (G, ») F ford,

(axb!sc)y! W%
(1) al«bxc! (2) ¢c'sbsxa!
(3) baxc'xal @ clsalsxb

TR (G, o) ¥ THE (G, =) | whonfa
e £, G ¥ G’ H U Turehiiar g, afe ;

(1) fa=b)=1f(a)o f(b) VabeG
(2) flaob)="f(a) = f(b) VabeG
(3) taxb)=t1@)ot'(b) Vabe G
(4) faob)=f(a) =

f'(b)y VabeG

afE Tk TR G 1 TA® 3T WY
yfaelm &l, @ G 2

(1) JomME=I
(3) areledl

(2) uftfia
(4) 3fdfia

10

46.

47.

48.

49,

s |

a, b, ¢ arc non-zero non-coplanar
— — — —
bxc¢c = ¢ Xa

vectors and B = [bea] » (= [cab] :
H IS

—

L

- axX b

L= [abe]” - then [abc] =

(1) [pqr] (2) [pqr]
(3) [par]! (4) 0

The point of intersection of vector lines
A 2 o N S
(73 +105 +13k) + Kk, (21 +37 +4k)
and (3? + Sj\ + ?ﬁ) + k, (T + 23\ i ’3ﬁ)

is given by

ALa A LA A A
(L) 1+ jhk 2) i—-j+k
(3) i+ j f\ (4) None of these
If'a, b, ¢ € G, then for a group (G, =),
(azblxc)y!is equal to
() alebxc! (@) ¢c'xbxa!
(3) bxc'wxat @) clxa'sb

A mapping f from a group (G, o) to a
group (G’ %) is group homomorphism
from G to G” if

(1) f(a=b)=1f(a)o f(b)
(2) flaob)="f(a) =

YabeG
f(b) VabeG
(3) flaxb)=t'@of'b) VabeG
(4) f(aob)="fla) =

1)y VabeG

If every clement of a group G is its
own inverse, then G is

(1) normal (2) ftinite
(3) abelian (4) infinite

03



n
(V]

03

ATk 2 I T ITEHE BidT 2

(1) Teram =g ;

(2) JETHT I9EYE

(3) shid THE

(4) T A HIE &

W T fEHg G & G H THmERIET B

AfmidsRa g TR g

(1) fle) = ¢, &l e @A ¢/, G, G’
SIS o @ |

(2) taH)=[fa)]',\Vae G

(3) f(G), G’ 1 ITEE 2 |

(4) Aadt

Ife s afem ﬁiﬁ %M g, a9 grad
(div f) =

(1) curl (curl ) = V2f

(2) curl (curl f) + V2f

(3) curl (grad 1)

(4) curl (curl 1)

2
(1) <haret gfcTferhia
(2) At T .
(3) ufwTferhia aen 3refta gl
(4) = ar aferfershia, = & srefta

JE‘Vq;dv:

V

(1) J ¢E?-ﬁds+J OV-adv
S \Y

) ] qﬁ-ﬁds-J OV-adv
s v

(3) J ¢5’-ﬁdv+J OV-ads:
v S

(4) J ¢E{-ﬁdv—J oV -adS
\Y S

11

n
%]

54.

55.

Every subgroup with index 2 is
(1) Quotient group

(2) Normal sub group

(3) Cyeclic group

(4) None of these

Let f be a homomorphism from a
group G into a group G’. Then which
of the following is not true ?

(1) fle) = ¢, where e and ¢ are
identities of G, G respectively
’r‘(a“l) =[fa)]'.Vae G

f(G) is a subgroup of G’

All of these

(2)
(3)
(4)

If f is a vector point function then grad
(div ) =

(1) curl (curl H)— V3t

(2) curl (curl H)+ V3f

(3) curl (grad )

(4) curl (curl 1)

=

I .
Vector 318
&

r
(1)
(2)
(3)
(4)

only solenoidal

only irrotational

solenoidal and irrotational both
neither solenoidal nor irrotational

J?-unlv:

V
(1) J ¢5’-ﬁds+J OV-adv

v

S
2) J q;?f-ﬁdS—J OV -adv
S

. V
3) ¢?{-ﬁdv+J 6V -7 ds
v S
(4) J ¢§-ﬁdv—J oV -adS
\Y S



a7,

60.

ol.

_r? = (cos nt) _,_i) + (sin nt) E) ?ﬁ
(]1_' - _
de” T
(1) n(E} X :

2) n :XE
(3)
(4)

. - =
(cos nt + sin nt) (b X a_)

. - =
(cos nt + sin nt) (a X b)

div (grad tan™! y/x) =
(1 -1 2) 0
@l 4 2

yftee wwen § FvEdr IO B g,
ﬂﬁ(ﬂ'@?ﬂmxn):

(1) RS < m+n-1)

(2) T HfFHE = (m+n+ 1)

(3) T HIFHTE > (m +n - 1)

(4) oo SIf¥RE > (m +n + 1)

fadasnwamy gt
(1) av=§? (2) US=E(V+A)
(3) a=1-¢hD (4) A-FVE%—E

e f(1) =2, f2) =4 3R £3) = 7. A

t’(n) =

() x (2) x+1
(3) x+1/2 “4) 1
ST GH TR

Ya+2= 2oy + Y, =02
&1 fafyre HHTehe] % H
(1) 2" (n*-8n+20)
(2) 2"-n(n+1)
(3) 2"n(n-1)
(4) n-2"'(n+1)

12

60.

61.

) - i
I[f r = (cos nt) a + (sin nt) H, then

(IT -
g
dt

() (B xa)

(2) n(X X f;)

(3) (cos nt + sin nt) (l_)) X (_1’)
(4) (cos nt+ sin nt) (: x b

div (grad tan™! y/x) =
(1) -1 (2) 0
() 1 (4) 2

Degeneracy in transportation problem
occurs, it (matrix m x n)

(1) empty cells<(m+n—1)
(2) emptycells=(m+n+ 1)
(3) emptycells>(m+n-1)

(4) emptycells>(m+n+1)

Which of the following relation is not
correct ?
(1) AV=32

(3) a=s1-¢MP

(2) Md=g(v+a)
@) ar+v=a-¥
If (1) = 2, f(2) = 4 and f(3) = 7, then
t'(n) =

(N x

3) x+1/2

2) x+1
4 1

The particular integral of difference
equation Voo —2Y, 4 *y, = n2on ig
(1) 2"(n?—8n+ 20)
2" n(n+ 1)
2"n(n—1)

n-2"tm+1)

03



I~

62.

63.

64.

66.

03

(1) Th=
(2) TH AN
(3) W A
(4) T A HIS TR
2
é‘rvﬁl—lg+,;—4+5’;—6~1 ...... g
(1) I9E
(2) i
(3) aud At

afe £ e R[a, b, FE weAt | fmme
$Hife

(a) ‘f,[a,b]REAA S |

(b) “f,[a, b] W UHER |
feadasmwadig ?

(1) had (a)

(2) e (b)

(3) QM (a) T (b)

(4) A ()T & (b)

s 1,3=(1+7) 2

(1) Teh aftha o ot 3T

(2) T U A 9 AR
(3) T iy uH T e arfga
(4) g

Hﬂaﬂ{%{:nel\l

(1) H9a ud g

(2) Toga ifert diterg

(3) = gea 7 € foga wfe aiteg
(4) IUiEg

2

13

62.

64.

66.

The n  divided difference of a
polynomial of degree ‘n’ is

(1) avariable
(2) aconstant
(3) alway;\: Zero
(4) None of these

2 3

-
The series + 14 + 56

1.2

(1) divergent
(2) convergent
(3) conditionally convergent

(4) oscillatory

If t € R[a, b], consider the following
statements : ’ :

(a)

(b) ‘f is monotonic on [a, b]

‘t> is continuous on [a, b]

Which of the following is correct ?
(1) only (a)

(2) only (b)

(3) both (a) and (b)

(4) neither (a) nor (b)

1 1
= 5 1= 2
The sequence {S | (l + n]

(1) Converges to a rational value

(2) Converges to an irrational value

(3) Absolutely converges to a rational
value

(4) Diverges

1
Aset{—:ne N} is
n

(h
(2)
(3)

Closed and bounded
Open but bounded
Neither
bounded
Unbounded

open nor closed but

(4)



67.

08.

09,

70.

71,

3 ]I Trlﬁ\‘?ﬁ'ﬁ'q%
P = 21, @y s
[0. 1] 9 aRifa 8, @t e f8m
(1) ufeg aen R-auresrey
(2) uREg Al R-wmrrer 7t
(3) UREg a1 R-gHTRAH
(4) FuftEg afr R-aarRer T2

=
J % x]dy=
0

(h-o (2) -1
3) 1 4) 12
lim % . -
n—e e =14 200 - 12

1
(1y 0 2) 3
(3) 5 +1 4 3

% ay> =12 (a— )k A B STHA
T 2

(1) %zaﬁs“ﬂ's‘
(2) f’%ﬁaﬁwré
(3) %aﬁsﬂ?r%
% v

(4)

li ‘l' ! + l e 5 —E—“l"_
nﬂgl,n-#n-kl n+2 n+3 7 3n
(1) logCS (2) logCE

3) 0 (4) -1

14

o7.

68.

09.

70.

71,

[ 1, when x is rational
i [, when x is irrational
defined on [0, 1], then fis

(1)

Function f{x) =

bounded and R-integrable
bounded but not R-integrable
unbounded and R-integrable

unbounded but not R-integrable

S — 12

[l —x|dx=
(1) 0 2) -1
(3) 1 4) 12
lim )E ‘“_l“——z
n—eco r=| \f.?m'—l'2
1

(1) 0 @) 5
(3) 5+ 1 @ 5

The area of the loop of the curve
ay? =2 (a—x) is equal to

9
a- .
(N 5 Sq. unit
8a2 ,
(2) 75 Sq. unit
L. 122 :
(3) 15 SQ. unit
6a’ ,
4) [‘5 Sq. unit
li l+ + : + l + .
s n e T T Pty S

(1) log3
(3) 0

03



72.

3.

74.

76.

03

FF y = 2t — x2, x-3181 qUT B
S[AAH % G < hITedl o TEg, &hel
2

() ﬁaﬁm

1

20 1 g
(3) %aﬁs‘uﬂ‘s‘
(4) 7§ I T

Whoay=1l.y=yx,x=caly=0%
trﬁaaah%@.\:lamﬁmﬁﬂﬁm%,
(1) 3:1% U d
(2) 1:2% I H
(3) 3:2% U
(4) 1:4% 9@ H

agfeos w9 @ wafa sAfed # 53
Teram B9 Y sTRreRdr sIeR §

(1)

365
5
3) 3

|
() 7
4 365

@9 BEl X, Y 3 Z i T e g

% o & o) & Reeh g1 A H
mmm%%aﬂtﬁ% | IO B
B Y GHTET I B

1 [
() 3 2 3

3 1
@ g @ 3

us i85 ) 4 9K ISTEA A1 B | BHH

o+ T Tad 39 < ITiRiekar
1 2
) 7z @ 7
15 1
) e @ 3

15

72.

74.

T

76.

The area bounded by the curve
y = 2x* — x%, the x axis and the two
ordinates corresponding to minimal of
the function is

1 :
(n 54 Square unit

1
2) 20 Square unit

7 .
F;ﬁ square unit

3)
4

None of these

The area bounded by the curve xy = 1,
y=x,x=cand y =0 is divided by the
line x = 1 in the ratio

(1) 3:1
@) 1:2
(3) 3:2
4) 1:4

Probability that a leap year selected at
random containing 53 Sundays, 18
equal to

53 1
(1) 365 2 7
2
G 7 4 363

A problem is given to.three students
X, Y and Z whose chances ot solving

1 .
it are 5, 3 and 2 respectively. The

chance that the problem will be solved,
is equal to

| o
(3 (2) 5
3 o L
ok, 4) 3
A coin is tossed 4 times. The

probability that atleast one head turns
up, is '

1 |
() 7¢ & 4
15 1
3 15 @ 3



77.

78.

79.

80.

81.

fgge st w1 e fauem wuwt 2

(n, p,q & | 1Y 7)
(1) npq (2) \ij
(3) m (4) np
afe fopet e o1 miew 3T wgeTh Al
12.2 3 11. a%a‘rsﬁwﬁm@aﬂ
TR 8
(1) 13.1 (2) 348
(3) 35.7 4) 11.9
Tk S ol W Reer 0§ | IR W H
aft H1 1 U 3= TR b @ 1o fema
ST &, A1 S <h1 TET S 8
(1) ho
(2) h'c
(3) hc?
(4) ho?
(-3/2) =
4r
(1 3
n
) %
L
(3) 73
(4) 341'5

TH n WA HEATT % WR Ieh A
T3 % 8 A WUH n WIhd e
T I 71T B

(1) n(n: 1)?
n(n+ 1)
22n+ 1)
3) n(n; 1)

m+D2n+1)
(4) 6

@

16

T

78.

T

80.

81.

Standard  deviation of Binomial
distribution is equal to (n, p, q have

their usual meaning)
(1) npq (2) \/np
(4) np

(3) \/npq

If mean and mode of a distribution are

12.2 and 11.3 respectively, then
median of distribution is equal to

(1 13.1 (2) 348

(3) 35.7 4) 11.9

Standard deviation of a distribution is
c. It all values of the variate
multiplied by a constant quantity h,
then variance of the distribution is
equal to

(1Y ho
(3) hic?

(2) hic
(4) ho?

@ =

The weighted mean of first n natural
numbers whose weights are equal to
the square of the corresponding
number is
n(n + 1)2
) =3
In(n+ 1)
22n+1)
nn+1)
@~

m+DH(2n+1)
(4) 6

03



83.

84.

86.

03

gfe feue deq %1 we 3  qun e

sreeo 5 2 it s <61 i 2
(1) 4 () 6
() 8 “) 12

gfe 7 = f(x + ay)+ ¢ (x—ay),dd

l Pz, 9%z

LD 3@ = dy>

Pz L9z

& ay? a2
L P 1
G) 2= a2
(4) Q.:g’. - 2 a_-é

P dy?

1 X

J. J (x*+ yz) dydy=

i x
T 3
(M %o 2 33
o 2
S @ 1
1. z. .\‘+_z
J J J (x+y+z)dzdxdy=
- 0 x-z
(1) 4 (2) 0
(3) -4 (4) 2

Th 10+ 32y -4yl —x+y+3=07h
T FATEa 2 :

(1) y+x=1

(2)
€)
(4)

y-x=0 .
2y+x=0

2y—-x=0

17

82.

83.

84.

85.

86.

If mean of a Binomial distribution is 3

) ) .3
and its variance is 5 the number of

trials is
(1) 4 (2) 6
(3) 8 (4) 12

If z=1f(x + ay) + ¢ (x — ay), then

| Pz_ 9%
(0 PR Jy?
@) oy~ @ oy
Y
(3) dy? a2 ol
4 2z 2 %2
) ox? 4 Jy>

A
J J (2 + y?) dvdy=
0

X

7 s ]
O] @) 5
4 2
G) 29 4 15
1 z‘ .\‘+1z
j J J (x+y+z)dzdydy=
-1 0 x-2
(1) 4 () 0
(3) -4 4) 2

One of the asymptote of curve

A+ ?;.\'gy—4y3 -x+y+3=0is

(1) y+x=1
(2) y-x=0
(3) 2y+x=0
4) 2y—-x=0



87.

88.

89.

90.

Hod z = tun"l%_% forw = sl W

S ‘Q£+ %-0

1= ¢ Yay‘
S_,E_a_.z_z_i_')._a?:_z-__i_,gi._
P T dxdy Y Jy?

Pz Iz
Sy= o= - dyr
P GI/AFEA I R/B?
(1) %ad S,

(2) A S, qUTS,

(3) wft S, S,, S,
(4) ¥ A HE T

i i -Mm
g ] XM (1 - 2" dx =J a 1_\_)!, dy,
0 0

Fﬁpw%

(1) m+n
3) m+n-2

2) m+n-1
(4) m+n+2

3TTgehe] GHIRWT (v + 2y3)%= y Il
UHFIEA B :

(1) x=cy+y’
(2) w=ey—y°

(3) x=cy+y’
4 x=cy-y’
ITeIhel THIHOT

d
Pt 2=y (1’ = (_L%} RLEC %

() xy?=ceY (2) xy?=ce'

(3) x%y=ceY (4) xy=ceY

18

87.

88.

89.

90.

For the function z = tan™! %considcr
the following statements :
J7 07
| E.\‘&Jr y‘é;z 0
2. 2. 2
S, =2 ST’ + vy aa\a/} +y? gv’ =0
Pz Pz

e 5 + 5 = 0
53502 oy
Which of the following is true ?

(1) onlyS,
(2) onlyS, and S,
(3) AllS,.S,, S,

(4) Nonc of these

I

& '\.I]l
y m _an - _ :
ltJ e - x)" l (1 + )0 dx,

0 ()
then p equals to
(1) m+n (2) m+n-1
3) m+n-2 m+n+2

General solution of  differential
A d p
equation (x + 2y?) E% =yis

() x=cy+y?

(2) x=cy-y?
3) =gy’
(4) x=cy-y’

The solution of differential equation

1y
xp + 2y = pxy; (p = %f\—] 1S

(1) xy?=ce¥ (2) xy*=ce"

(3) xZy=ce 4) xy=ce

03



91.

02

94.

03

dy . dy .
aawgﬁ]a;m(—yr(sl---l)a—suy:(}
1 ETH & 2
(1) y=ce'+ e,

(2) y=ce¥+c,et
(3) y=c,¢"+cpediv

(4) }.r — Clc'-.\' + Czc'-;i.l'

AR 2= (2y/dy2)?3 Gl 3,:@?5

IR THIROT 6T °Td 99T hife HHE:
2
(1) 2,2 2 9.2
(3) 2.4 (4) 3,2
ger 37erehcer Geteptor

d VI

ﬁ:e‘ Y(e'—eY)
T FUThS T[0T &
(1) e (2) e
(3) ¢ 4) e

d2y e

C:CEag) Htﬂwm:— 2y ()}

y(0)=0,y'(0) = I & B
(1) y=cotx+1

(2) y=tanx+1

(3) y=tanx

(4) y=cotx

T it wwen §, e @i o > 0,4
x; = X;; T M & G0, R
(1) 22 ¢; X; =1

L] ) :

{2) Z Cii = l

(3) L2 ¢:=D
1] Y
(4) 2 X C;; X.=0

i j ] 1]

19

91.

93.

94.

The general solution of the differential

equation 452 +(31~1) a2y = 01s

(2) y=1¢ oY+ C-}C‘w‘ Ly

(3) y= CIC\' ny c,e RN

2 o L W IPREG | £\
i )

(4) y=6gtt5e

. then the degree

and order of the above differential
equation are respectively

(1) 2:2 2) 9.2
(3) 2.4 4 3,2
The integrating factor of lincar

differential equation
dy '

=" ¥ (¥ —eY) is

dx
(1) 'e* 2) e*
@) e @ e

Solution of the difterential equation
24
dy?
(I) y=cotx+1
(2) y=tanx+1
(3) y=tanx

(4) y=cotx

2y 2y=0; y(0)=0, y(0)=11is

In an assignment problem, if all ¢; >0,

then x. = Xij will be an optimal

1)
solution where

(1) 22 ¢ Xa=1
i LUBIRY
(2) 2c;=1
£
(3) XX G = 0

L]
(4) T2 ¢; X, =0

1]



96.

97.

98.

99.

= e Tume gren w e
Her fafy g ga w0 & o A
i = wfefaa e a€i 2
feau 2= 5x, +2x,
gias" 3y, +x, =4
x + 2, <3
Lyt 2 3,
.\'l_..".'ESO
(1 4
(2) 3
(3) 2
4) 1

s domm gwen ¥, afe gama gl
% gy=y b ay=a § a wHE H
& B

(1) gEdHBA

(2) A< 'A

(3) Jufag &

(4) IS T T

<l A Y] 1 FAME:

(1) e e GY=r4 gldl & |
(2) W YW Y=Y &I BT & |
(3) YT A=A TE g |

(4) for aqeE B g |

WRea Tom g
7= 5x + 7y 8 widqe Id

\J.'+y£6:2.\'+3y23;.\'23,y23,'€[

qz

(1) T = g |

(2) "o Aftrepaw g |
(3) =W =1 SifreRa g |

(4) I E |

20

96.

97.

98.

99.

To solve the following LPP by
simplex method how many artificial
variable/s will be added ?

min  z= Sxp + 2x,
S.t 3.\" + .\.2 == 4
Xy +2x; £3
v, 2.3
X)Xy <0
(1 4
(2) 3
(3) 2
4) 1

In a linear programming problem if the
set of feasible solution is null set, then
the problem has

(1) Optimum solution

(2) Infinitely many solutions
(3) Unbounded solution

(4) No solution

The intersection of two convex sets is
(1) always a convex set

(2) not always a convex set

(3) not a convex set

(4) null set

The linear programing problem
z = 5x + 7y subject to the constraints

x+y<£6;2x+3y23;x23,y23,
then z 1s

(1) always minimum

(2) always maximum

(3) either minimum or maximum
(4) infinite

03



100.

101.

102.

103.

104.

03

Ffe 4wt & gford = srfieae
RTAH W A 40 TS 3T 20 THTS
2, 91 1 S o qiEor 8

(1) 30, 103HE  (2) 25,153HT%
(3) 50,103HE  (4) 35,1530

o U W P T QA A Al HI
gfoeft, BT W F §T TRl el

afor 1 amen 2 4t

(1) coso=2cosf}

(2) cosP=2cos

(3) cos o/2 =2cos /2

(4) cos /2 =2cos a/2

T TE ) s W 30 31 | qU
a8 Iiferan 918 10 313 ITH T ©,
g&e vy o, e & fean smar 2

(1) 9(sin 20+ 1) =25 (tan 0. — )2
(2) 9(sin 200+ 1) =25 (tan o + 1)?
(3) 25(sin 20+ 1) =9 (tan ot + 1)

(4) 25(sin 20+ 1) =9 (tan o.— 1)?

frafafga § & w9 91w T i

ehfal o & It & 2

(1) Tforq aresifies fama g |

(2) T Y T W shmfd %
g | I B2 |

(3) Th@ # GfeRr w1 & g
Hpied g 2 |

(4) @ 8§ suqd wel /el 6 s
HI I 2 |

Freferfiaa o @ @ w1 e fafde sewt
=1 Teh TR & & 2

(1) 3Tl sitereda € |

(2) 3 FIETH TG IS A B 3 |
(3) AMABAE | -

(4) AgETAPd TIA B2 |

21,

100.

101.

102.

103.

104.

If the maximum and minimum value
of the resultant of two forces arc 40
units and 20 units respectively, then
the magnitude of both forces are

(1) 30, 10 unit (2) 25, 15 unit
(3) 50, 10 unit (4) 35,15 unit

The resultant of two equal forces
inclined at an angle o is halt of
resultant when they are inclined at the
angle 3, then

(1) coso.=2cos 3

(2) cos 3 =2cos

(3) cos ov2 = 2cos /2

(4) cos /2 =2cos /2

Horizontal range of a projectile is 30
units and it acquires maximum height
at 10 units, the angle of projection o is
given by

(1) 9(sin 200+ 1) =25 (tan o — 1)?

(2) 9(sin 20+ 1) =25 (tan o+ 1)

(3) 25(sin 20+ 1) =9 (tan o0 + 1)

(4) 25(sin 200+ 1) =9 (tan o — 1)?

Out of the following, which
statement does not shows Nature of
Mathematics ?

(1
(2)

Mathematics is universal subject.

Every branch of Mathematics
begins with a set of postulates.

(3) of

In Mathematics, area
Generalization is very narrow.

Abstract  terms/concepts
explained in Mathematics.

(4)

are

QOut of the following, which statement

is not a characteristic of specific

objectives ?

(1) They are specitic and precise

(2) They are in terms of behavioural
outcome

(3) They are attainable

(4) They are in Generalized form
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107.

108.

~TIfOTe =1 I e R 3 ) wEar
Y gEiRa 2 1 98 %o i % fey
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(4) STANTICH Hed

T wvft ferst bt Rimgm qen et 2 1
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(3) Juiferm

(2) TSR S
(4) B

fr=fafed 4 @ w5 w1 amme faf %

T T UL dTfeheh 0 & 2

(1) 3¢ — IgEv— fhgn -
Frefeptor

(2) Fhem— sem—  Fredeo—
BHEIUE

(3) e fem— o
B

(4) IeEUI— Ffle—  IeEu—
fFrerfertor

fraffaa & @ < @ fome fafy =0
fnegor gz & 8

(1) am= g fafyre

(2) q&u 8 T

(3) HF | IgrE
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105.

106.

107.

108.

“The progress and the improvement of
Mathematics arc linked to prosperity
of the state™. This statement indicates
which value of Mathematics 9

(1) Social value

(2) Cultural value

(3) Moral value

(4) Utilitarian value

“Mathematics is the gateway and key
of all the Sciences”, this statement is
given by whom ?

(1) Dutton (2) Roger Bacon

(3) Napoleon (4) Hogben

Out of the following, which is the
correct logical sequence of steps for
inductive method ?

(1) Example —  Example —
Observation — Generalization

(2) Observation — Example —
Generalization — Example

(3) Example — Observation —
Generalization — Example

(4) Example — Generalization —

Example — Generalization

Out of the following which is not
correct maxims of Deductive Method ?

(1) From General to particular
(2) From Abstract to concrete
(3) From Formula to example

(4) From Concrete to abstract
03
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el 3R fafe alet @) ver fpan m
T e 2 foraes g freres % afesh
W ofrr foranatt & aftomreey 32w
fopan Sar 2 a1 WU Rews g R
TR -
(1) wA.ua. |t

(2) s ue i

(3) AT

(4) Iiepn w9 faoge

TS SUTTH fer BRfersT ot a1renfid &
(1) HETCHS HAIeF

(2) TFerrens wifa=

(3) eree TR

(4) st wifasE

sl faftr % srsrafeer woe A f
S 17 8, fed T forepedi § & 37 Sl w1
HT%EBW@% |

(i) S 197 ol s2va fgfor
(i) S <6 AT ST

(iii) wfferfy Seamr s

(iv) ST T qedieh

(v) FISHITER S ST

(vi) TR R} 1 SAGT-STRAT &1
foreney

(1) (), (ii). (iii), (iv), (v), (vi)

(2) (v), (vi), (iii), (ii), (i), (iv)

(3) (iii), (i), (i), (v}, (iv), (vi)

(4) (ii1), (i), (ii), (v), (vi), (iv) |
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109.

110.

111.

“Lesson plan is the title given to a
statement  of achievements to be
rcalized and the specific means by
which these are to be attained as a
result of the activities engaged in day-
by-day under the guidance of the
teacher”. The statement is given by
whom ?

(1) N.L. Bossing
(2) Bining and Bining
(3) Carter V. Good

(4) Yokam and Simpson

Unit approach is based on which
Psychology ?

(1) Cognitive .Psycho[ogy
(2) Diagnostic Psychology
(3) Gestalt Psychology

(4) Counselling Psychology

Following are the Jumbled steps of
Project method. Find out the logical
order of these steps from given options :
(i) the

Choosing  and

project.

purposing

(1) Planning of project.

(1ii) Providing a situation.
(iv) Evaluation of the project.
(v) Executing the project.
(vi) Recording of the project.
Options :

(1) (@), (i), (i), (iv), (v), (vi)
(2) (v), (vi), (i), (ii), (i), (iv)
(3) (i), (i), (i1), (v), (iv), (vi)
(4) (i), (i), (ii), (v), (vi), (iv)
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114,

Feremeft TR S IeEWT S Rl
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(3) IS
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(1) TSR SR

(2) BiTeA
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112.

114.

. “The

“Studcnlts will be able to give
examples of Arithmetical

Progression”. This specific objective 1s
related to

|
(N Knim-vlcdgc

(3) Application

(2) Understanding
(4) Analysis

. The evaluation which is being taken at

interactive phase of teaching is known
as |

(1) Interactive evaiuation
|
| y .

(2) Formative cvaluation
|

(3) Summative evaluation

(4) Purposive evaluation

When teachers of Science, Economics,
Philosthy_, Geography ete.  uses
concepts of Mathematics in  their
respective teaching at that time
correlation of each subject  with

Mathematics is known as
(1) Co-lateral correlation
(2) Multi-lateral corrclation
(3) Uni-lateral correlation

(4) Partial correlation

Scientific education which does
not commence with Mathematics is,
necessity defective, at its foundation™.
This statement stated by whom ?

|
(1) Roger Backen

(2) Hoghben
(3) Herbert
(4) Kamte

03




116, F=faflga @ & & @ fasen wft@
foreror % <rom smyRfra IusHt & Sy
1 781 quar 2 2
() f@ ™ 9 & g fmin
STt afe =t TETEaT o e |
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HUT ITANT el 3T <l TG QT

77

(1) I@unenati ot fuge =1 T
feurfern & werv ot |

(2) Torslt fafer = wfshan o1 @&t ST=T |

3) fed ™ arfwsi B weEar @

117.

% /=TE T farehtd T |

(4) @ T fawm-wg d ¥ IrR@
TIRIAT3 ! TEE=1 2 |

118. frafafga & @ +8 @ fiela

ITCEA 1 Trgr TE &

(1) &g g I fagra

(2) @@ i g

(3) 3vgan 1 fagr

(4) ehre whgfe 1 fagr

03

25

116. Out of the following, which option
does not shows the use of improvised
apparatus  during  teaching  of
Mathematics ?

(1) Use of Geometry box to teach
construction of triangle with
given measurement.

Use of Bangles, Thread, Meter
scale to find out circumference of
circle,

Use of Chalkstic Box, Thread,
Meter scale to find out the surface
area of cube.

Use of Ball, Coffee Bottle, Water
to find out volume of sphere.

(4)

117. Out of the following, which statement

does not shows the objective related to
application ?

(1

Use of concept and principle in
new situation.

Correct use of any method or
Process.

Developing Graph/chart with the
help of given data.

Identify unstated assumptions in
given content.

118. Out of the following, which is not the

principle of programmed instruction ?
(1) Principles of small steps.
Principle of self pacing

Principle of abstractness

Principle of immediate feedback



119. fr=fafaa 8 & ®F o1 ysg-gw ol

]

% IUGI B TE ST AR 2
(1) ferenfiat < diem 6 ofa d gur
T |

(2) ferenffa st atferes fopamsfier s=mT |

(3) faenffat =1 g=mmd yem T |

(4) sftpmesat & Teor wife 1
forerma e |

. Fr=fafaa & @ % o srfimfea 78 2 2

(1) ws e W fret off forg @ foreht
3174 forg e Eii=h ST ket 2 |
(2) T W W@ T § IAE fag W

foeee T& X Fehd! |
(3) < ga < fargani mufresg Fd € |
(4) GPIUl IGh WM T AN B IR 37
GRS

st § e wBRne % fIQ

foremTenes ulteror faestaa femam mam o
(1) Si.UH. 9 Td 3

(2) S, gHae Td AR A

(3) el . FHR

(4) e . THIH T Th. IR WhiHe

. “UTGIsHH FATHR (3TEATH) & B o

gz T1vH 2 e ag e (ferneff) =1
I I (W) FIGER I
wfed (wpe) # T wH” AT HA
forgen gra fean e 2

(1) sehiam
(2) hellaH
(3) wi=H
(4) HHTaH

119.

120.

121.
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Out of the following which is not the
appropriate objective of use of Audio
visual aids ?

(1) To improve learning speed of
students.

(2) To make students more active.

(3) To provide informations to
students.

(4) To develop observation power of

learner.

Out of the following, which is not
postulate ?

(1) A straight line can be drawn from
any point to any other point.

(2) Two straight line cannot intersect
at more than one point.

(3)
4)

Two circles intersect at two point.
The whole is equal to the sum of
its parts and is greater than part.

Diagnostic test for fundamental process
in Arithmetic was developed by

(1)
(2)
(3)
(4)

G.M. Ruch and others
G.T. Buswell and Izenore John
Leo. J. Brukner

Fred J. Schonnel and F. Eleanor
Schonnel

. “The curriculum is a tool in the hands

of artist (teacher) to mould his material
(the pupil) according to his ideals
(objectives) in his studio (the school)”,
this statement is given by whom ? -

(1) Bankingham
(2) Karlingham

(3) Sunningham
(4) Cunningham

03
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(4) Ifay @
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<o Ll

)
(4)
(256)“.}(‘! : ( l())(l,ls Coi ]:n:{% :

(1) 4 (2) 16
(3) 64 (4) 128
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(1) & & 3t foreg uftfia
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123. Which of the following statements are

124,

126.

127.

correct ?

A. The sum and difference of any
two irrational numbers need not
be irrational.

B. Product of any two
irrational numbers is irrational.

C. For any two distinct irrational

a .
numbers a and b, the numbcrljJ 1S

irrational.
() A,BandC (2) AandBonly
(3) BandConly (4) Only A

Sum of an integer and its square is
(1) always an odd number

(2) always an even number

(3) always prime number

(4) None of these

-3[ 1452 .

. The number T

(1) Natural number
(2) Integer
(3) Rational number

(4) Irrational number
The digit in the unit position of the
integer
1T+21+31+,....+99is
(1 7 (2) 3
(3) 1 4) 0
The value of (256)*1¢ . (16)*18 js
(1) 4 2) 16
(3) 64 (4) 128

. The number of integers n (> 1), such

that n, n + 2,
numbers, is

(1) more than two, but finite
(2) infinite

(3) two

(4) one

n + 4 are all prime
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(3) AB=CD (4) BC=CD
fed & fer ®, AB || CD || EF 31R GH ||

KL,dl 01 HH 3

& P
I: I

/G
(1) 85° (2) 145°
(3) 120° (4) 155°
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129,

130.

The remainder, when 592% is divided

by 7 1s
(1) o (2) 4
(3) 2 4) 1

In given figure, if AC=BD

A
B
C
D
then,
() AB=BC (2) AC=CD
(3) AB=CD (4) BC=CD

. In the given figure, AB || CD || EF and

GH || KL, then value of 0 is

¢ oy I)

b /H ¥
/G

(1) 85°

(3) 120°

145°
155°

(2)
(4)

. The point of concurrency of medians

of a triangle is known as
(1) Incentre
(3) Orthocentre

(2) Circumcentre
(4) Centroid

. If the arcs of the same length in two

circles subtend angles of 60° and 75°

at their respective centres, then ratio of

their radii is

(1) 3:4 (
(

) 5:4
(3) 4:3 ) 4:5

2
4

. The area of a triangle with two sides

8 cm and 11 ¢m and perimeter 32 cm,

is equal to
(1) 8sq.cm. (2) '\f‘a—O $q. Cm.

3) 8\/—3—0 sq. cm. (4) 30\f§ $q. cm.

03
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135.

136.

137.

138.

139.

In the given figure, O is the centre of
the circle. If chord BC is extended up
to P, then ZDCP is equal to

(1) 60°
(3) 80°

(2) 70°
(4) 110°

If the area of an isosceles right angled
triangle is 8 sq.cm., then its perimeter
is equal to-

(1 (s +\ﬁ) cm
(3) (4+8+2)em

(2) (8+44/2)cm
(4) (8-44/2)em

If in a triangle, the radius of the
circumcircle is double the radius of the
inscribed circle, then the triangle is

(1) equilateral (2) isosceles
(3) rightangled (4) None of these
The area of a circle is halved when its
radius is decreased by ‘n’, then radius
of circle is

n

\ﬁ 1 units

my2 "
units
A2+

(N _ \;_]:3% units ~ (2)

2

(3) J—,}gri—lunits (4)

If all the elements of a 3 x 3 matrix P
are 1, then P2 =3P is

(1) anull matrix

(2) an unit matrix
(3) acolumn matrix

(4) adiagonal matrix
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140.

141.

143.

144.

th

If a, b, ¢ are the p™, q" and ™" terms

respectively  of  an  arithmetic
progression and also the p*, ¢™and ™

terms of a geometric progression, then
ab¢ b ¢ is equal to
(1) 0 2) 1

(3) abc (4) (all)vc)"“"h e

ItA=11,2,3,4, 5}, then the number
of subsets of A which contain element
2 but not 4, is |
(nH 2
(3) 6

(2) 4
“4) 8

It R be the set of real numbers and

f: R — R is defined by f(x) =e¢". then f
15

(D
(2)
3)
4

surjective only

injective only

bijective

Neither surjective nor injective
The number of ordered pairs of

integers (., y) satisfying the equation
A+ ox+yr =4

15
(1) 8 2) 6
3) 4 4) 2
b a i

a b Y.
If=+—=m and —+_=n, then1s
Yy Xy X

equal to
ma -+ nb
na + mb

ma — nb
na +mb
ma—nb

ma +nb
na —mb

(3)

na—nb

0 1
. IFA ={ L0 } then the matrix A is

(1) idempotent matrix
(2) nilpotent matrix
(3) involutory matrix

(4) singular matrix
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Irfé RERRVERPLIE < 3 i 0 log.y, log x,
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gua aldl o HHIA] ) YeCHIN F
IER =afRE fhar sw d@) wee

‘GANDER’ I %Ife 2 :
(1) 372 (2) 373
(3) 393 (4) 593

afg A= la,b,c) THEEYR,, Ryt A— A
R, = {(a, b), (b, ¢), (¢, a), (a, a), (b, b),
(¢, ¢); @4 R, = {(a, b), (b, ¢), (c, a), (a,
a)}, dd

(1) R, qoad g4 3 W R, T&l 2 |
(2), R, HoRT T4 § 90 R, TE & |
(3) R, W R,QHI Toal Ha-e % |

(4) =T § IS T

_ 12 '
e (1+4/3) =x+iydsy! 2 e g
(1) 1 2) 2
(3) 3 4) 0

x—1 2

2 2
-?rfﬁfEWA[ 3 x-1 2 1
3 3 x—1

T v F arafE TE R g, 5
FIWW%MFOH%Wﬁ,‘@Tﬁ:

(1) 0 (2) 1
(3) 2 4) 3
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146.

147.

148.

149,

150.

L : ey .
If x°, y?, z7 are in A.P; logy, log x,

logyz are in G.P. and xyz = 64, then
X, yand z are

(1) in A.P only

(2) mG.Ponly

(3) bothin A.P and G.P

(4) neither in A.P norin G.P

If the letters of the word ‘DANGER’
be permuted in all possible ways and
the words formed be arranged as in a-

dictionary, then the rank of the word
‘GANDER’ is

(1) 37 {2y 373
(3) 393 (4) 593
IfA={a,b,c} and relationsR |, R,: A — A

are R; = {(a, b), (b, ¢), (c, a), (a, a), (b, b),
(¢, 0)} and R, = {(a, b), (b, c), (c, a), (a, a)},
then

(1) R, is equivalence relation but R,

“isnot.
(2) R, is transitive but R, is not.

(3) R, and R, both are equivalence
(4) None of these

12
If (1 +4/3]) = x + iy then y"12 is

equal to
(1) 1 () 2
() 3 4) 0

x=-1 2 2
If Matrix A =| 3 x-1 2 |

3 3 =1
then the number of real values of x

s ; d :
satistying the equation Ix Al =0, 1s

(2) 1
4 3

(1) 0
3) 2

T )\
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